

(۱)

$$a_1, a_2, a_3, \dots, a_n$$

$$11 + 9\omega = 7\omega$$

$$11 + 9\omega = 7\omega$$

$$\{1, 2, 3\}, \{4, \dots, 12\}, \{13, \dots, 24\}, \{25, \dots, 36\}, \{37, \dots, 48\}$$

$$\frac{121 + 392}{2} = 256.5$$

(۲)

$$a_1, a_2, a_3, a_4, a_5, a_6, a_7, a_8, a_9, a_{10}$$

$$a_9 = \left[\frac{19}{11} \right] - 1 = 1$$

$$a_9 = 1 - 1 = 0$$

$$a_1 + a_2 + a_3 + \dots + a_{10} = \omega(a_1 + a_{10}) = \omega$$

(۳)

$$a_0 = 14$$

$$a_1 = 14, 1$$

$$a_n = ax^2 + bx + c \rightarrow a_n = -0.2x^2 + bx + c$$

$$-0.2$$

$$a_n = -\frac{1}{5}x^2 + bx - 1$$

$$a_1 = 14$$

$$a_{10} = 14$$

$$\frac{a_{10}}{a_1} = \omega$$

$$b = 1$$

$$c = -1$$

$$b = 1$$

$$c = -1$$

$$b = 1$$

$$c = -1$$

(۴)

$$a_f = a'_f \Rightarrow a + rd = \frac{a'_f + d'}{-1d'}$$

$$a_x = a'_x \Rightarrow a + vd = \frac{a'_x + d'}{-rd'}$$

$$a + 9d' = 0 \Rightarrow a' = -9d'$$

$$a + rd = -1d'$$

$$a + vd = -rd'$$

$$a_{10} = a'_1 + 9d' = 0 \Rightarrow a'_1 = -\frac{9d'}{9} = -d'$$

$$a_{10} = a'_1 + 1d' \Rightarrow -\frac{9d'}{9} + \frac{1d'}{9} = a_{10} = fd$$

$$\frac{a_{10}}{d} = \frac{fd}{d} = f$$

(۵)

$$9a_1^r = 9a_1 a + 9a_1 a \Rightarrow 9(a^r + d^r + 9ad) = 9a^r + 10ad + 9a^r + 9ad$$

$$(a+d)^r = a^r + d^r + 9ad \Rightarrow 9a^r + 9d^r + 18ad = 1a^r + 1d^r + 9ad \Rightarrow 8a^r + 8d^r + 9ad = 0 \Rightarrow \frac{a}{d} = x$$

$$\frac{8a^r + 8d^r + 9ad}{d^r} = 0 \Rightarrow 8x^r + 8x - 9 = 0 \Rightarrow 8x^r + 8x - 9 = 0 \Rightarrow (x+1)(8x-1) = 0$$

$$x = -1, x = 1/8$$

$$a = -rd$$

$$a = 1/8d$$

(۶)

$$a, b, c$$

$$b = \frac{a}{r}, \frac{c}{r}$$

$$\frac{a}{r} = \frac{a_1 + d}{\frac{a_1}{r}} \Rightarrow \frac{a}{r} = \frac{a_1}{r} + \frac{r_0 d}{r} + \frac{d}{r}$$

$$a_1 = a_1 d, a_1 + rd$$

$$a_1 + d, \frac{a_1}{r}, \frac{a_1 + rd}{r}$$

$$\frac{r_0 d}{r} + \frac{d}{r} = 0 \Rightarrow r_0 d + d = 0 \Rightarrow d(r_0 + 1) = 0$$

$$d = 0$$

$$d = -\frac{r}{r} a_1$$

$$d = 0 \Rightarrow \frac{a_1}{r} = \frac{1}{r} \Rightarrow \frac{1}{r} \times r = 1 \Rightarrow 1 = 1$$

$$d = -\frac{r_0}{r} \Rightarrow \frac{a_1}{a_1 + d} = q = -1 \Rightarrow x = -1 = -r$$

(۷)

$$a, b, c$$

$$r_0 b, r_0 a, c$$

$$r_0 a, r_0 a, a, q^r$$

$$a_1 q^r + r_0 a_1 q = r_0 a_1 \Rightarrow a_1 (q^r + r_0 q) = r_0 a_1$$

$$q^r + r_0 q - r = 0 \Rightarrow (q+r)(q-1) = 0$$

$$q = -r$$

$$q = 1 \Rightarrow \text{میان میانی}$$

$$\frac{a_q}{a_q} = q^r \Rightarrow q^r = r^r = -r^r$$

(۸)

$$* x = \frac{q}{a}$$

$$\frac{a}{q} = \frac{a^r}{aq} = \frac{a^r}{a_r} \quad (9)$$

$$\frac{a_q}{(a_r)^r} + \frac{a_r}{(a)^r} = r \Rightarrow \frac{aq^a}{a^r q^r} + \frac{aq}{a^r} = r \Rightarrow \frac{q^r}{a^r} + \frac{q}{a} = r \xrightarrow{*} x^r + x - r = 0 \Rightarrow (x+r)(x-1) = 0$$

$$\begin{aligned} x - r \\ x = 1 \end{aligned}$$

$$\frac{q}{a} \begin{cases} \nearrow -r \Rightarrow \frac{a}{q} = -\frac{1}{r} \\ \searrow 1 \Rightarrow \frac{a}{q} = \frac{1}{1} = 1 \end{cases}$$

$$\begin{aligned} a_r &= \sqrt{a_r} & a_w &= rV \\ aq^r &= \sqrt{aq^r} & aq^r &= rV \end{aligned}$$

$$a^r q^r = aq^r \Rightarrow a \underbrace{(aq^r)}_{rV} = aq^r \quad q^r = rV \Rightarrow r q = r$$

$$a x^r = rV \Rightarrow a = \frac{rV}{x^r} = \frac{1}{r}$$

$$\frac{1}{r} - \frac{1}{r} = \frac{r}{q} - \frac{r}{q} = \frac{1}{q}$$

(10)